Notations :

24th Dec 17 Shift 1
M P Professional Examination Board

1.0Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with * 1COon are inCorrect.

Question Paper Name:

Subject Name:

Creation Date:

Fatwari 2017 SET24

Fatwari 2017
2017-12-24 11:50:01

Duration: 120

Total Marks: 100

Display Marks: No

Calculator: None

Magnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

Group &

Group Number : 1

Group Id : 33547253

Group Maximum Duration : 0

Group Minimum Duration : 120

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 100

General Knowledge

Section Id : 335472208
Section Number : 1
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

24th Dec 17 Shift 1



24th Dec 17 Shift 1

Sub-Section Number: 1
Sub-Section Id: 335472208
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354726931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following is the smallest district of Madhya Pradesh in terms of geographical area? | {imiicid & &
o ¥ Fafaias § & 19 a1 7ed USy &7 9ad FIeT e 27

Correct : 1 Wrong : 0

Options :

1. ¢ Datia | gfdar
2. ® Jabalpur | JEeqR
#® Morena | GAT
4. ® Indore | &R

w

Question Number : 2 Question Id : 3354726932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How long is the coastline of India? | WRT & I ToFRT ThaAT el 57
Correct : 1 Wrong : 0

Options :

1. ¢ About 7,500 km | @ 7,500 Tt
2. ® aAbout 2,000 km | @ 2,000 T
® about 10,000 km | & 10,000 ferdt
4. ® about 15,000 km | @THT 15,000 fordT

w

Question Number : 3 Question Id : 3354726933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Kautilya was the chief adviser to: [ ®fea ______ & T AT 2
Correct : 1 Wrong : 0

Options :

1. ¥ Chandra Gupta Maurya | =g T8 1
2. ® aAshoka | s1an@

# Harshavardhana | g¥asa

4. ® Chandra Guptal | @g ]I

w

Question Number : 4 Question Id : 3354726934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Martyr's Day (Mahatma Gandhi's Martyrdorm) is celebrated on

et T argTed) waAw A . T AT ST 21
Correct: 1 Wrong : 0

______________ of every year. | 9Big ¢ag, (WgTaaT

Options :

1. ¢ 30th January | 30 S9a¢t
2. ¥ 29th January | 29 J=e
3. ® 1st January | 1 S=ad
4. ® 2nd January | 2 F=eRT

Question Number : 5 Question Id : 3354726935 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Who a;rnép%r}?g the following is NOT an Arjuna Award winner in 20177 | AT # @ #19 2017 ¥ ar &)

Options :

1. # Jyothi Surekha Vennam | Siid g&@r a99
2. ¥ Harmanpreet Kaur | gTHWIT $1T

3. ¥ Hardik Pandya | gTie® usar

4. ® Arokia Rajiv | SRITRaT Triter

Question Number : 6 Question Id : 3354726936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT a member of Cabinet Comrmittee on Security? |
H & F Pl I AAAS B GraT Gerel G @7 aeea 951 8

Correct: 1 Wrong : 0

Options :

¢ Minister of Law & Justice | @A % =1 TT
# Minister of Finance | 25 74t

# Minister of Defence [T&T 7T

# Minister of External Affairs | o2 Amwat & WAt

o U L B

Question Number : 7 Question Id : 3354726937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In total, how many coastal districts are there in India? | Fal e, 9RT | frad aera et 27
Correct : 1 Wrong : 0

Options :
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® 78
» a8
v 70
® 54

5

Question Number : 8 Question Id : 3354726938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The journalist Gowri Lankesh shot dead on 5th September 2017 belonged to which state? [ 5 dew 2017 @t
AT ZRT AT T8 U@ T dehsy Ty T & Helteg fi?

Correct: 1 Wrong : 0

Options :

1. #® Tamil Nadu | I8« 915

2. ¢ Karnataka | @dic®

3. ® aAndhra Pradesh | SITer mgar
4. ® Telangana | I&THT

Question Number : 9 Question Id : 3354726939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is the first Indian to win the 'Best Actor' award in an international film festival? | AP hed GARE #
AT STAAAT PT JEERR SAa aTet TIT YR 19 B 57

Correct: 1 Wrong : 0

Options :

1. ¥ Amitabh Bachhan | SiRam g+

2. ® Raj Kapoor | T #T

3. ¥ N.T. Rama Rao | AR T AR
4. ¥ Shivaji Ganesan | TSt Mot

Question Number : 10 Question Id : 3354726940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Pehsari Dam is located in____ . [ UEETCr AT _______ AT G
Correct: 1 Wrong : 0

Options :

# Bhopal | ¥

#® Indore | 22X

¢ Gwalior | Tem feR
® Ujjain | F=4

5
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Question Number : 11 Question Id : 3354726941 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich one of the following places is in Morena, and is known to have been the capital of Kushwahas? |

PR & & T 1 QI HOAT 7 8, S ParaTgt GhT ST 3 ToTy SITT SITaT 27

Correct: 1 Wrong : 0

Options :

1. ¥ Banmore | AT

2. ¢ Sihoniva | fgifaam
3. ® Khajuraho | @9l
4. #® Sabalgarh | GaaTg

Question Number : 12 Question Id : 3354726942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Chitrangi in Singrauli is known for which of the following? | TR # Radit Fglatas # & s T S ST 27
Correct : 1 Wrong : 0

Options :

1. #® Gadhi old fort | T&T qrHET fewem

2. ¢ Painted rock shelters | RIfET gl s
® Dam | @iy

4. ® pPower house | fag@ g

w

Question Number : 13 Question Id : 3354726943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is Sabalgarh Fort and Garhi Sumavali situated? | HaaTg Tl X Mo GUTde! Pl 0T 57
Correct : 1 Wrong : 0

Options :

1. ¥ Morena | §eAT

2. ® Ashoknagar | STNHTR
3. ® Gwalior | T eI

4. ® Ujjain | F=4

Question Number : 14 Question Id : 3354726944 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Where is Tawa Darmn and Madhai reserved forest located? | FaT el 37T WS SIRIST o @gT TR &7

Options :
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1. ® Gwalior | T@TerX
2. ® Ujjain | I=4
3. ¥ Hoshangabad | gIamTene

4. % Bhind | Wz

Question Number : 15 Question Id : 3354726945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The historic Anand Nagri ‘Mandu’ is in district of ______. | OfdgTie s AR wg IECR: A
Correct: 1 Wrong : 0

Options :

1. ¢ Dhar | 4R

2. ® Indore | &KX
3. ® Dewas | g™
4. ® Jhabua | ST

Question Number : 16 Question Id : 3354726946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

With which dynasty is the Fort of Lanji in Balaghat associated? | aTaTaTe H @11 &7 [helT e e & Gated g7
Correct : 1 Wrong : 0

Options :

¢ Gond | Tz
#® Maurya | §1
#® Chandel | @iea

Kalchuri | Ferglr

ol L I
b4

&

Question Number : 17 Question Id : 3354726947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Indore is in the meeting place of rivers_____. [ge _______ At drdEw H
Correct: 1 Wrong : 0

Options :

1. ¥ Narmada and Tapti | F¥ar 3T I
2. # Sindu and Shipra | &y s f¥m

3. ® Shipra and Ken | T3m 3fit &=

4. ¥ Khan and Saraswati | @ ST Ge&ad !

Question Number : 18 Question Id : 3354726948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The Gandhi Sagar Sanctuary is located in the districts of ______. | TITeT AR enERu ___ % et T g
Correct : 1 Wrong : 0

Options :

¢ Mandsaur and Neemuch | AEE 3T JiHer
# Sheopur and Morena | @t st geaT

# Rewa and Satna | TaT 3T g7

# Jhabua and Ratlam | Sesm 3K @am

o L I

Question Number : 19 Question Id : 3354726949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

General Maths and General Aptitude

The S1st district of Madhya Pradesh is .| meAmEST T Sl e _______ 2

Options :

1. ¢ Agar Malwa | TR ATeaT
2. ¥ Mandla | #=ar

3. ® Khargone | @O

4. # Alirajpur | SRR

Question Number : 20 Question Id : 3354726950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where in Madhya Pradesh is Indira Gandhi National Tribal University located? | Te[d ueqr ¥ giwaar el Tt
AT FET T
Correct: 1 Wrong : 0

Options :

1. ® Katni | @e-r
2. ¥ Bhopal | ¥

3. ¥ Rewa | @

4. ¥ Amarkantak | 3WFR@HEE

Section Id : 335472209

Section Number :

Section type : OnlineMandatory or Optional: MandatoryNumber of Questions:
Number of Questions to be attempted:

Section Marks:
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472209
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354726951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ina rectangle, if the lepgth 15 increased b}? 40% and breadth is decreased b}.? 30%, then the area changes 15
________ | T 3T &1 daTs 40% | 95T ST T8 3K TSTe 30% S U1 ol TE) a1 83%a ________ Uididd giaT gl

Correct : 1 Wrong : 0

Options :

1. ® increased by 5% | 5% Jlg &
2. ® decreased by 5% | 5% #HT &
3. ® increased by 2% | 2% Thg &
4. ¢ decreased by 2% | 2% FHT &

Question Number : 22 Question Id : 3354726952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Marked price of a sweater was Rs. 1000. Shopkeeper gives a 20% discount. Again he gives a further discount
of 50% in the new price. What is the selling price of the sweater now? | U&F Tdet T aiferd e 1000 F0 M
FEHIR 20 %Eﬁg‘{%m%] 90 §edl T dg T & S0% &1 g2 <aT g1 STa et 7 Tohpd Jod T 87

Options :

1. ¥ Rs. 800 | 800 zu&
2. ¥ Rs. 400 | 400 703
3. ¥ Rs. 300 | 300z
4. ¥ Rs. 900 | 900 T4

Question Number : 23 Question Id : 3354726953 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The remainder when 3x* — 24x* +48x? — 5x + 100 is divided byx —4is___ . /3x*— 24x* +48x% -

S5x+ 100 & x — 4 ¥ fanfarg & W A9 gIam|

Correct : 1 Wrong : 0

Options :
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1. % 100
2. v 80
3. % 120
4. % -100

Question Number : 24 Question Id : 3354726954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

N . L

>

2

Correct: 1 Wrong : 0

Options :

v R

1.¢
12
>% 2
J5
3 & O
5
4 % f

Question Number : 25 Question Id : 3354726955 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The area of a square plot is 1024 sq.m. What is the length of its sides? | U# TP @S BT 476 1024 a7 HITT g
T TS o TS AT 57

Options :

1. ¥ 32m | 320t
2. % 31m | 314
3. 8 22m | 220
4. ® 42m | 42%t
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Question Number : 26 Question Id : 3354726956 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the average. | sffad faiom

33, 70, 29, 40, 18
Correct : 1 Wrong : 0

Options :

1. ¥ 38
2 % 39
3. % 40
4. % 41

Question Number : 27 Question Id : 3354726957 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The fraction F = 08 when reduced to the lowest fom is: / &g &7 & oTechd A W HAF

88
67914
38808 m
67514 )

Correct : 1 Wrong : 0

Options :
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3
1% 7
7
2% 9
4
3.¢ !
5
"

Question Number : 28 Question Id : 3354726958 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If3x2+4x +2 =0, then 3x + 2P isequal to__ . /A 3x2+4x +2=0, al (3x+2) & I
el

Options :
1. ¥ ¢
2. %5
3.¢ -2
=% 2

Question Number : 29 Question Id : 3354726959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In 8 basketball garmes, Deepa scored 7, 4, 3, 6, 8, 3, 1 and 5 points. In her ninth garme, she scored less than 10
points and the average for the nine games was an integer. Again in her tenth game, she scored less than 10
points and her average for the 10 games was also an integer. What is the product of the nurnber of points she
scored in the ninth and tenth games? | 8 aEdeald Gal |, 37, 4,3 6,8 3 13RS a@um frm EICKCR g
94 10 3! T &7 Uy fory i 3 @l @7 sied uw o g I9F gad @l H, T 10 T & F1 uiF oy oK 10 Waf &
Torg sitaa ot ger qurfer sm 3@ gRT Hid oK gad Wal § U Sfe! &1 @7 &1 G 947 57

Correct: 1 Wrong : 0

Options :
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® 35
v 40
® 483
® 56

o R

Question Number : 30 Question Id : 3354726960 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ram and Shyam were born 24 years apart (assuming Ram is elder to Shyam). Four years from now, the ratio
of their ages is 5:2. How old is Shyam now? | A Y ST 9 24 767 & ¢ # A o1 oM (A o U0, S a 92T ) |
3 H IR T WeATd, ITeh! 37T BT SIUIT = 5: 2 31 apdT @t oy fewat 87

Correct: 1 Wrong : 0

Options :

1. ¥ 24 years | 24 a9
2. ¥ 12vyears | 12 T8
® Syears | 8 ad
4. ¥ gyears | 60

w

Question Number : 31 Question Id : 3354726961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Kamala tells Virmala a number whose product of the digits is 24. What is the surmn of the digits of the smallest

such number? | FHAT [ITAT § Ul GEAT Fgd | o foredr S| &1 Uk 24 31 UGT Taq TEAT & S| BT AN FT 57
Correct : 1 Wrong : 0

Options :

1, W11
2. % 10
® g
4 8 3

w

Question Number : 32 Question Id : 3354726962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If 42% of a given nurmber is 12.6, then the number is: | I 3 T8 GEATFT 42% 12.6 3, IT @ET &

Options :
1. ¥ 30
2. ¥ 40
3. # 35
4. % 45
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Question Number : 33 Question Id : 3354726963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The present age of Aman and Baman are in ratio 2:3, respectively. Six years hence, this ratio will becorne 7:9.
What is Aman’s present age (m%rears)'? | T I aH BT A 31T T SIUTT FHIGER 2:3 1 % a9l & WelTd, T8
U 7 - 9 BT AT (9T #) S0 I a0 &1 foha+t 87

Correct: 1 Wrong : 0

Options :

1.v8
o 5
3. % 18
4. # None of the above | Iud® # & F1E 51

Question Number : 34 Question Id : 3354726964 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A landlord wants to build a fence for a right-angled triangular shaped field whose two shorter sides are given
as Smand 12 m. How long should the fence be? | U@ W& ATleler Uk GHE 0T TR0 SITHTE & &F & o7 UF a1 &7
Tomfor @ zmgaT & Sradt g @y 4oy 5 Wew ot 12 decar mg & mﬁmﬁrauﬁ@:ﬁaﬁ@

Correct : 1 Wrong : 0

Options :

1. ¥ 30m | 30 "X
2. 8 28m | 28 HiEw
3. ¥ 26m | 26 HiY
4 8 24m | 24 HieY

Question Number : 35 Question Id : 3354726965 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

251227

Correct : 1 Wrong : 0

Options :
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1. v 15

2 %8 125

3. 85

4 8 25

Question Number : 36 Question Id : 3354726966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If the exterior angle of a regular polygon of n sides is ﬁ of the interior angle, then nis___ . /3¢

n SS3T AT UF WA TGS T IRHIOL I BT H —F. drn__ Bl

Options :
1.-% 11
28 12
3 8 22
4. ¥ 24

Question Number : 37 Question Id : 3354726967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Whatis the value of Sx2+x . ifx = 8? /3¢ x =8, Tl 5x2+x &I HAA FT &7

Correct : 1 Wrong : 0

Options :

1. ¥ 328
2. 8 320
3. % 300
4. % 104

Question Number : 38 Question Id : 3354726968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the coefficient of x2in the expression4x: —3x+2?2/9C 4x*-3x+2 H x* & 31Uﬂ$
T B°

Correct: 1 Wrong : 0

Options :
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M
2. 83
28 2
4 % 1

Question Number : 39 Question Id : 3354726969 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

At present, the respective ratio between the ages of Seetha and Kamala is 4:3. After 6 years, Seetha’s age will
be 26 years. What is the age of Kamala at present? { SqA §, a7 3 HUAT &1 3T % affdl & Garag argua 4:3 31 6
oY wera, a7 H g 26 a@%ﬁh IO | THAT 1 31 Fera=T g7

Correct: 1 Wrong : 0

Options :

1. ¥ 21 years | 21 a§
2. 8 20 years | 20 94
3. ¢ 1Syears | 15 T4
4. ® 32 years | 32 T4

Question Number : 40 Question Id : 3354726970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A bag contains balls of same sizes: 2 are red, 3 are blue, 10 are white, 4 are green and 3 are black. Balls are
taken from the bag without looking and not returned. What is the smallest number of balls that should be
taken from the bag to be sure that two balls of the same colour have been taken? | & Sel § GH TR &1 1S &
2 A &, 3 Aleil &, 10 T &, 4 B &K 3 Feil o) Tal @I Oet & 3 To4T Mawme Strq7 8 o aleram 7! Sran Ut et & agay
T AT & AT Top g GiAId F & Teid et & TepTell AT aTigl ToF UaF ot €7 &1 GF 1G] @1 TerTar mar 87

Options :

1. % 10

2. %8

3.¥6

4. %5
Section Id : 335472210
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
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Group All Questions: No

General Hindi

Sub-Section Number: 1
Sub-Section Id: 335472210
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AT o FET IR WA ATl AST 5 -
Correct : 1 Wrong : 0

Options :

1. ¥ -z
 U-a7itET

N -
«* c—dldc

o

Ll

® F-wag

-~

Question Number : 42 Question Id : 3354726972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TTe & et ST aTel (qTeted) avil | gl man
Correct : 1 Wrong : 0

Options :

,I}. ¥ !\,J —
® 8 { 3
B4 o

Question Number : 43 Question Id : 3354726973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
QTR E -
Options :

1. %3
2.v¥'Q

4 8 g

I~

Question Number : 44 Question Id : 3354726974 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

$E IR T -
Correct: 1 Wrong : 0

Options :
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1. ® gt
4 & g7

Question Number : 45 Question Id : 3354726975 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Options :

Question Number : 46 Question Id : 3354726976 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Tda ®T AT g § 9 @ 9187

Correct: 1 Wrong : 0

Options :

2 & @
3. % @&
4. % gy

Question Number : 47 Question Id : 3354726977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T HET T AT qF & Tord U e T H F FT ATE?
Correct : 1 Wrong : 0

Options :

2 ® gy

4. ® et

Question Number : 48 Question Id : 3354726978 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

‘goRe T T g Mg # @ el e

24th Dec 17 Shift 1



24th Dec 17 Shift 1
Options :
1. ¥ gg+a¢
2. ¥ g+ax
3. ¥ g+amT
4. ¥ ZU+AT

S~

Question Number : 49 Question Id : 3354726979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

FeH F AT Seg Mg H I BT AT E?

Correct : 1 Wrong : 0

Options :

A

C<
g
¢ 3l

Sl
¢

:
a2

&

AW
¢

Question Number : 50 Question Id : 3354726980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TRT JUAET & T S (g H @ FIT 57
Correct : 1 Wrong : 0

Options :

1. ¥ gioory

Question Number : 51 Question Id : 3354726981 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘oot s §, g & @ F9 9 ang 27
Correct : 1 Wrong : 0

Options :

1. ¥ geqey quTE
2. ® franE
3. ® FHyRg guE

Question Number : 52 Question Id : 3354726982 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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G & §g &0 Mg # F P |1 g?

Correct : 1 Wrong : 0

Options :

Question Number : 53 Question Id : 3354726983 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Raw aTgger g aaTarg?
Options :

1. ¥ S

2. ¥ @

3. ® Rz

4 ® f@m3

Question Number : 54 Question Id : 3354726984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“WATF T T TATAT AT 540 & F19 a1 87
Correct: 1 Wrong : 0

Options :

1. ¥ g
2. % @y
3 %z
4 v 99

Question Number : 55 Question Id : 3354726985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ﬁqﬁ?{gaﬁﬁaﬂsm R ARTA foF TH S
o W AT ST ) T felpey i

Correct : 1 Wrong : 0

Options :
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1. ¥ 3TE STAER
2. ® AT SEET
. GOE AT
4. ¥ JuF SEFT

w

Question Number : 56 Question Id : 3354726986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T@iierd e o Toly W Teletd greg Tae T w1 gid e -
T T Tl STt 81T ____________ T 2]
Correct: 1 Wrong : 0

Options :

& ToE

N b=

]ﬁl
#® smiaF

w

-

Question Number : 57 Question Id : 3354726987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

IR W § g 59 UF Yeg H & FRll -
Correct : 1 Wrong : 0

Options :

1wﬁ—zm—w
2 8 AT E
4  amang

Question Number : 58 Question Id : 3354726988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
TGN e § IUGT g -
Options :

1.v9g

2. 8 @

3.8 @

4 8 g

Question Number : 59 Question Id : 3354726989 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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' 371 o afel AT 99 G@ ' - Ig oy 9 e § 9 541 87
Correct : 1 Wrong : 0

Options :

—

. drpit

SoWN

Question Number : 60 Question Id : 3354726990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

"Ereleg T HTH- g aaEm

Correct : 1 Wrong : 0

Options :

1. ¥ il § ag T (femmp

2. ® Eregememy

3. ® &rd s arer

4. % gEE@R
Section Id : 335472211

Fural Econormy and Fanchayati Raj

Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472211
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which of the following revenues is NOT shared by the State Government with Panchayats in Madhya Pradesh?
{ T vy # AT T ® & @ |7 Tored @) T[d GCR R ERT U & ST 9T A1 T ST g

Options :
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1. ¥ Land revenue | 9 - T&Ed

2. ® Cess on land revenue | 9 - Tod W It
3. # Additional stamp duty | i itEd q20 ST
4. ¥ Corporate tax | Tamiig @<

Question Number : 62 Question Id : 3354726992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is the Chairman of the Sth State Finance Comrission of Madhya Pradesh? | g W & S of T foe sy
¥ ST P 57
Correct : 1 Wrong : 0

Options :

1. ¢ Himmat Kothari | 5¥a ®tamwer

2. ¥ Milind Waikar | e amgae

3. ® Shivraj Singh Chauhan | 9w g =ige
4. ¥ Malay Rai | Ae T

Question Number : 63 Question Id : 3354726993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the function of Kisan Call Centres established in Madhya Pradesh? | 7e e # &g oy My fram= @ia
T T FAT FI F1aT 87

Correct: 1 Wrong : 0

Options :

1. ¢ Furnish information to farmers | ToaT=! @1 Ga=T U™ HeT

2. # Sell the produces of farmers | TFaT! % IcuTe! 1 TahT FeaT

3. # Supply necessary materials for farming | Qa1 ¥ oy S G &1 emyfd Hear

4. # Enquire well being of each farmer over phone | BIH U Ucd® frar &1 sdl atg § [Fam &eT

Question Number : 64 Question Id : 3354726994 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

About 62-65% of the total cropped area is under ______. | el BT T T T 62-65 % ______ & ST 3
Correct : 1 Wrong : 0

Options :

1. ® Oil seeds | A

2. ® Horticultural crops | amamT B&a
3. ® Cash crops | TSI Ea

4. ¥ Foodgrains | @meng
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Question Number : 65 Question Id : 3354726995 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is Sanjay Gandhi Youth Leadership & Rural Development Training Institute, located at? | EECRIGT E:2)
FAISTIIT U T SAATHE ¢ =TT SEIIe (Forer Treft gar Aqed oK Ty fermrer nidter deum) @i T 27

Correct: 1 Wrong : 0

Options :

1. # Pithampur | TaAR
2. #® Neermuch | dwer

3. ¥ Datiya | giaar
4. ¢ Pachmarhi | T=HET

Question Number : 66 Question Id : 3354726996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the objective of Bharat Nirman? | W THI0T &7 2T 359 57
Correct : 1 Wrong : 0

Options :

1. ® Giving a boost to industrial production | 3fENTiE IUREA | &5 el 1
2. ¥ Creating basic rural infrastructure | Gad TTHI SERgE JIR FAT

3. #® Thrust on providing education to all | Gaew! THeT TS = U AR AT
4. ® Improving trade | AR &1 GFTaT AT

Question Number : 67 Question Id : 3354726997 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is ‘Jansunwai’ envisaged as part of social audit of MGNREGS? | A-IRIIT & HTHTIE @I & AT o &7 #
s FAT &7
Correct : 1 Wrong : 0

Options :

1. # Hearing in rural court | TTHIT =& # gHaTs

2. #® auditing by going door to door | TR-TT AT ATET AT

3. ¥ Public hearing at Panchayat level | U=Tad €q¢ I 4 gdTs

4. ® auditing the expenses for publicity | W & @ @1 a@T-TeaoT

Question Number : 68 Question Id : 3354726998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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______ was the first State in India to decide to transfer the ownership of Non Wood Forest Produce to the Gram
Sabhas after the 73rd Amendment to the Constitution. [ ______ ¥R & Ugell T AT e favte e for i st o=
JTUTEA & TTiHee |icteTd & 73 of e & aTe, U FHTll @1 gedigied forar S

Correct: 1 Wrong : 0

Options :

1. ¥ Assam | /W

2. ¥ Madhya Pradesh | AT uaq
3. ® Gujarat | TERT

4. ® Kerala | e

Question Number : 69 Question Id : 3354726999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which was the first state to launch Panchayati Raj after the recormmendations of the Balwantrai Mehta

Cormmittee? | TAGITT HgdT FHeT Bl TAHTIG I & o1g GeTerd | T AT @¢ aTell Ugell (e @i 17
Correct : 1 Wrong : 0

Options :

1. ¥ Madhya Pradesh | TR s
2. ® Gujarat | ToRIT

3. ® Kerala | ava

4. ¥ Rajasthan | T

Question Number : 70 Question Id : 3354727000 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The first official atternpt to calculate National Income of India in 1949 was made by National Income

Cornmittee that was headed by__________. { 1949 H 9RT &I TP ST Y 0T Fl T UgelT STTERTINGE WATe TP S1TeF
qmfd ERT _____ ¥ Aqca # Tor T 9m
Options :

1. ¥ Dadabhai Naoroji | SIETEE AT

2. ¥ PC Mahalanobis | 4t €. Ag@-ieaT

3. ¥ VKRV Rao | @i Fmdiaa

4. #® sardar Vallabhbhai Patel | @3ER dead4Ts U

Question Number : 71 Question Id : 3354727001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

24th Dec 17 Shift 1



24th Dec 17 Shift 1

Holding % f elections for the Panchayats is decided by the _____. | wETIat @ TolT g e @ vt ERT T
EEIRIES

Correct: 1 Wrong : 0

Options :

1. ¥ Constitutional mandate | GaeT—® A2
2. # Central Election Cormmission | ®hgi< gTa =T
3. ¢ State Government | U9 GFK

4. ® District Magistrate | aT AT

Question Number : 72 Question Id : 3354727002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The objective of the Pradhan Mantri Gram Sadak scheme is construction of______. | WIS FAT TTH GSF FT 0T
I ______ 7T Termior

Correct : 1 Wrong : 0

Options :

1. ¥ Rural Area Roads | TTHIT &3 A0

2. ® City Area Roads | 9g¢r &= A1l

3. ® Semi-urban Roads | aref-amerr Anf
4. % all of the above | I0w 4T

Question Number : 73 Question Id : 3354727003 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which among the following is classified as a Major Forest Produce in Madhya Pradesh? | fgfeiiad # & g wer
TS H Uk UGE a9 IcUTE o & H arfigd T T 57
Correct : 1 Wrong : 0

Options :

1. ® Resin | TR

2. ® Skins | FTd

3. ¥ Tendu leaves [ 3 F W
4. ¢ Timber | Fax

Question Number : 74 Question Id : 3354727004 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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‘Mamatva Melas’ are organized by Madh%g_fradesh Wormmen Finance & Development Corporation for selling: |

T TS AlgelT Tad Ua e A grT ‘Auca dar Faieiad & foebt & oy s fomm ST g:

Correct: 1 Wrong : 0

Options :

1. ¢ Products of women in self help groups & rural wormen | a3 SgTdT @ug! 3K Urior afgemst # Afgarsit & Ioug
2. ® Products of rural artisans | TTHIT {Seqe@RT & IUES

3. ® agricultural produces | FY IS

4. # Industrial products | e Ieug

Question Number : 75 Question Id : 3354727005 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which is the central department that provides information on weather to farmers? | @1 |7t TIwT i1 =1
HrEaw Helelt g1 I @ar a7

Correct: 1 Wrong : 0

Options :

1. # Department of Agriculture | Fig f&wmT

2. ® NABAD | 9@E

3. # Indian Council of Agricultural Research | ¥R HTY aTer givwg
4. ¥ India Meteorological Department | a2 HIGH T

Question Number : 76 Question Id : 3354727006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is the target group of the programme ‘Roshni’ under Deen Dayal Upadhyaya Gramin Kaushalya Yojana' ?
f 'a:rmmma%w— lrrngm AFT AT & SqTd I FRiFH & W0 AT qHg T 37

Correct: 1 Wrong : 0

Options :

1. ® Women living in forest areas | @ &3 # (g aTelt AlgaAd

2. ¢ Youths of left wing extremism affected areas | @/ gt IuaTg & T &A1 & JaT

3. ® People living in rural areas of north-east India | YR ¥ Yaiqa< # Tg= aTel TTHIT F@AT
4. # Youths of Kashmir | FHR & Ja&

Question Number : 77 Question Id : 3354727007 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The first meeting of the Panchayat is to be convened within ______ days from the date of declaration of the

election results. | AT TRUTTHT @1 GG HT TR H ______ Tet @ offa? v=mad &1 uge! daw gets a1 gl

Correct: 1 Wrong : 0

Options :

Question Number : 78 Question Id : 3354727008 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT a Special Category State under Central Government schemes? | g T
reAeTeit & aaﬁa*ﬁaﬁf%aﬁﬁﬁmmaﬁﬁﬁwaaﬁ@m%?

Correct : 1 Wrong : 0

Options :

1. ® Tripura | By

2. ¥ Madhya Pradesh | Te[ U¢a

3. ¥ Meghalaya | RaT@g

4. ® arunachal Pradesh | SIZUTER 0

Question Number : 79 Question Id : 3354727009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
At what ratio the balance of actuarial premium under Pradhan Mantri Fasal Bima Yojana is shared between

Central & State Governments? | Trd argurd # Wer TAT GEa sl1HT AIST o SaTia o Hiierer HTHIH & G- 7 8K T4
U] o T FTEAT T AT 57

Options :

1. ¥ 80:20
2. % 80:40
3. ¥ 50:50
4. ¥ 30:70

Question Number : 80 Question Id : 3354727010 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The National Development Council (NDC) was founded in ____. | T e uiveg (a2t &1 wommr ____ # gg ofh
Correct : 1 Wrong : 0

Options :
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1. ¥ 1947
2. ¥ 1963
3. ¢ 1952
4. ® 1954

Section Id :

Section Number :
Section type :
Mandatory or Optional:
Number of Questions:

Number of Questions to be attempted:

24th Dec 17 Shift 1

335472212
5

Online
Mandatory
20

20

Computer Knowledge

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472212
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727011 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

BIOS is the short form of: | siemgsiue ga@T |igqd &7 &:

Correct : 1 Wrong : 0

Options :

1. #¥ Best Input Qutput Device | s¥{e 3AYT ATIYe fZamd

2. ® Better Input Output Device | 97T IAYT ATITYT 1EaEd
3. ¢ Basic Input Output System | df€® g4YT AM3eye egen

4. # Basic Input Outcome Systermn | aid® saqe Iea aeH

Question Number : 82 Question Id : 3354727012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

To select range in MS Excel, we have to use
FEAT ZIM

Options :
1. ¥ A1-B1
2 ® 41=R1
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3 ¢ 41B1
4 ¥ A14B1

Question Number : 83 Question Id : 3354727013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following staternent is CORRECT about a computer virus? | U% ®HUgel aoRd & g} § uAierad § 6
HI9 AT FUF Aol 57

Correct : 1 Wrong : 0

Options :

1. ® It removes worms from the system | Ig fagey & aHd ®1 52T 8l

2 % gI]t securely conducts financial transaction over the internet | Ig §et4e W dqd 19 A-ed ®1 guiga &7 & e
T

3 %It storgtles sensitive data like passwords in a secure file | g U%F GIHT S5 H HdgAd1a ST o yrdas &1
I Fear

4. ¥ It makes local system and files unusable | I8 @iwd THGCH SR BISAd @1 AU o147 8]

Question Number : 84 Question Id : 3354727014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

RAM is the abbreviation for: | ¥ (3RUUH) T4 71 G40 €7 &
Correct : 1 Wrong : 0

Options :

1. ® Register Address Memory | THEeT U39 RART
2. ¥ Random Access Memory | ¥28 Ugad aai
3. ¥ Read Address Memory | U U259 AR

4. ®¥ Read All Memory | OF 3iTe AT

Question Number : 85 Question Id : 3354727015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is commonly used to perform many different types of calculations? | T e
3 TOHTG X o Tol] AT &0 | 598 9 fopearT SuT fomm raT 27

Correct: 1 Wrong : 0

Options :

1. ¢ Spreadsheets | T

2. ® slides | gA3S
3. ® Word document | 92 STFHE
4. # None of the above | IWRIFT & & FIE 51
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Question Number : 86 Question Id : 3354727016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following tab stop positions are not available in MS Word 20077 | TAUE @2 2007 ¥, FyAET # &
I AT o G IS U T8l 57

Correct: 1 Wrong : 0

Options :

#® Left Tab | #ue &

# Right Tab | 5T &9
# Center Tab | "X g
4. ¥ Bottormn Tab | 91eA 2d

o L

Question Number : 87 Question Id : 3354727017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A modern is connected toa______. | HiEH ST gATRIAT 3l

Correct : 1 Wrong : 0

Options :

1. ¢ telephone line | THTE ABA
2. ® keyboard | #iaS

3. ® printer | fileT

4. ® monitor | ATWET

Question Number : 88 Question Id : 3354727018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Deleted file goes to
Correct : 1 Wrong : 0

Options :

# Document | STgHT

# My Computer | H1 FHIGET
¢ Recycle Bin | framia o=
® ‘D’-Drive | ‘B g5d

ol U L

Question Number : 89 Question Id : 3354727019 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following Page Orientation is used in MS Word while printing? | gaud a2 # Wifdm & tm, g & @
Torg O anRGe e @7 ToraT ST

Correct : 1 Wrong : 0

Options :

24th Dec 17 Shift 1



24th Dec 17 Shift 1

1. ® Regular | UK
2. ® Standard | =2

3. ¥ Landscape | dieqaT
4. # Plain | 79

Question Number : 90 Question Id : 3354727020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How can V%’% make the selected character superscripted in MS Word? | TRUE a2 H, 30 deicpe 67 5T Hiped @l

Correct: 1 Wrong : 0

Options :

1. 8 Ctrl + =

2. ¢ Ctrl + Shift + =

3. ® Alt + Ctrl + Shift + =

4. # None of the above | IWIFT & & FIE 751

Question Number : 91 Question Id : 3354727021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
In MS Excel, you can use the horizontal and vertical scroll bars to: | UHTH UFdd #, 317 457 @1 @ & fong gt

Fead G191 BT JULNT T qepd

Options :

1. ¢ View different rows and colurmns | feie== ufkat a2 g4t &1 g & oy

2. ® Split a worksheet into two panes | U@ gadie @1 ol 049 | [T & & fog
3. # Edit the contents of a cell | U% Hct & he-ed P QUG B & o]

4. # View different worksheets | fafe== gddic 3@a ¥ oy

Question Number : 92 Question Id : 3354727022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The application tool such as Word, Excel, PowerPoint, Access are all developed by: | UTeIH gl 99 o, Thde,
UTeRyaTse, Thad adt faT & grT faetad g mg g
Correct : 1 Wrong : 0

Options :

#® Apple | gque

¢ Microsoft | ATEHETT
#® Android | UETOE

# Linux | feqea

ol L
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Question Number : 93 Question Id : 3354727023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Personal logs or journal entries posted on the web are knownas __________. | o O OE T ST el gaiTTa
AN 3T Gl & AT & AT AGT 31

Correct : 1 Wrong : 0

Options :

1. ¢ Blogs | g@NT

2. ® Photos | BIeT

#® Smartlogs | GHETEAT

4. # All of the above | IRIHT T4

w

Question Number : 94 Question Id : 3354727024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

_____ TS o ol U UFEca gIaT gl

GIF is an extension for file. | GIF

Correct : 1 Wrong : 0

Options :

1. ¢¥ image | g0
2. % word [ T2

3. ® video | difE=r
4. ® audio | ATEAT

Question Number : 95 Question Id : 3354727025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The pr%cess of copying data from a memory location is known as: | Ue BART Ak & STET BT H T TioraT T

Correct : 1 Wrong : 0

Options :

¢ Reading | TfEm

#® Controlling | FgieT

# Hand shaking | 8= ST
® Writing | TsieT

o R

Question Number : 96 Question Id : 3354727026 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A shortcut key ‘Ctrl + V' is used to
JURT __________ o Torg Toram SmaT 81

Options :

______ in MS Word docurnent. | URUE I8 STHgHT H, dTéwe &1 Ctrl + V &7
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1. ¥ Paste | 09T
2. ® Copy | @l
3. ¥ Underline | siETaA®A
4. ® Italicize | geforams

Question Number : 97 Question Id : 3354727027 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich of the following is used to browse Internet? | §e34e F137 B & oy T § & TraerT IuanT frar ST g7
Correct: 1 Wrong : 0

Options :

1. ® Skype | g
2. ® Facebook | HHg®

3. ¥ Whatsapp | FgREIT
4. ¥ Firefox | BRRGIHE

Question Number : 98 Question Id : 3354727028 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Any message to transfer is divided into small chunks of data known as: | FTGT 7 A ATAT B8 T @S, TRT &
Fie-gIe 9T # ferariia g1 e wFgemar &

Correct : 1 Wrong : 0

Options :

1. ¥ Router | T3

2. ® Host | gFF

3. ® Hypermedia | gEURHITSAT
4.

¢ Packets | Baeq

Question Number : 99 Question Id : 3354727029 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT a hardware? | AT § & 47 U gr2de] 31 87
Correct: 1 Wrong : 0

Options :

# Scanner | g

¢ Interpreter | EETUET
# Printer | e
# Mouse | AII®

ol L

Question Number : 100 Question Id : 3354727030 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0

A strong password consists of: | G UTHTS 99 THAST a1 51aT 5
Options :

1. # Alphabets only | Faa aurigRl &
2. ® alphabets and numbers | aUiigRl Ua T@ameil &
3. # Alphabets, numbers and special characters | auTigRl, Ggmsit Fur Afdwe Regt &

4. ¢ Alphabets in upper and lower cases, numbers and special characters | 31 Ud @ISR 3 H quiigr, gt
qorm fafdne gt @
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